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Exam A

QUESTION 1
Which activities can only be performed by the Metric Store Administrator?

A. Set policies.
B. Create the root scorecard.
C. Run import and export options.
D. Add links to a CognosBI report.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
straight answer.

QUESTION 2
A user needs to update target values ONLY for:

· Americas Return quantity %
· Americas Return quantity % Defective product
· Americas Return quantity % Incomplete product

What minimum permissions MUST be applied on the objects for that user?

A. Write target values permissions to the Americas scorecard and read permissions to all ancestor
scorecards.

B. Write permissions to the three metrics and traverse permissions to all ancestor scorecards.
C. Write target values permissions to the three metrics and read permissions to all ancestor scorecards
D. Write permissions to the Americas scorecard and read permissions to all ancestor scorecards

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 3
An administrator has created a scorecard structure with three levels:

1) Corporate
2) Sales
3) Americas

Set Policy permissions have been granted to the Sales scorecard. Write Actual Values permissions have
been granted to the Corporate scorecard. By default, what permissions will a new metric added under the
Americas scorecard have?



A. Execute only
B. Write Actual Values only
C. Set Policy only
D. Read only

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 4
The scorecard developer has created a new user defined column called Stretch Target and wants to
manually add stretch target values to the Sales metric. To do so, what does the scorecard developer first
need to do?

A. Specify Stretch Target as a user defined column in the Sales metric type.
B. Re-calculate metric store derived values.
C. Create a metric type called Stretch Target.
D. Include Stretch Target in the default display columns.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
agreed with the given answer.

QUESTION 5
Which of the following is a characteristic of five state status indicators?
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A. The metric administrator can set an option for how many states fall above or below on target state.
B. The number of statuses above on target depends on the metric type performance pattern of the metric.
C. The number of statuses above on target can be set to a value between 1 and 4.
D. The number of statuses above on target is the same as that below on target.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
straight answer.

QUESTION 6
Which of the following can be added to a strategy element?

A. Scorecards
B. Diagrams
C. Projects
D. Actions



Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 7
There is a requirement to create a report 01 various scorecards with the company logo and corporate color
schemes. What would be the MOST appropriate method to use?

A. Use My Preferences to include the company logo and corporate color schemes and use the toolbar print
button on the view with the required scorecard information.

B. Use My Preferences to include the corporate color schemes and create a diagram with the company
logo and the scorecard information.

C. Use Report Studio to design the report with the logo and the corporate color scheme and the Metric
Studio model to report on scorecard information.

D. Use Report Studio to design the report with the logo and the corporate color scheme and the content
store to report on scorecard information.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
fine.

QUESTION 8
An administrator can add a report to which of the following?

A. Import sources
B. Actions
C. Metric types
D. Business calendars

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
upgrade answer.

QUESTION 9
An administrator wants to add a URL to the Reports tab for a scorecard. This URL will reference a
PowerPoint presentation. Which of the following would the administrator type in order for the presentation to
display correctly?

A. www.company.com/scorecard.docs/Imetric_sid].ppt
B. www.company.com/scorecard.docs/[sc_extid].ppt
C. www.company.com/scorecard.docs/tmetric_extidl.ppt
D. www.company.com/scorecard.docs/Itype_sid].ppt

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
straight answer.



QUESTION 10
Which of the following can be associated to a custom diagram?

A. Watch list
B. Actions
C. Reports
D. Scorecards

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Best answer.

QUESTION 11
Which of the following can an administrator specify for a strategy element?

A. Scorecards to be included
B. Default color
C. Date range
D. Owner

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
mentioned answer is perfect.

QUESTION 12
What rollup rule was used on this strategy element?

A. Majority rules
B. Bubble up green
C. No status rollup
D. Bubble up red

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 13
Which of the following can be added to a strategy element?

A. Metrics
B. Scorecards
C. Diagrams
D. Actions

Correct Answer: A
Section: (none)
Explanation



Explanation/Reference:
straight answer.

QUESTION 14
What needs to be done to create a report from multiple scorecarding packages?

A. Merge Framework Manager models andpublishesas a single model.
B. Merge the contents of the content and staging namespaces in each scorecarding package.
C. Create a query or report using multiple scorecarding packages.
D. Create a query or report off the staging namespace of all scorecarding packages.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 15
What method of data loading would be used when a data value does not exist in a data asset?

A. Metric Designer
B. flat files
C. SQL scripts
D. manual entry

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 16
After executing SQL scripts to deliver values into the metric store, at a minimum, what metric maintenance
task must be run to populate the metric store?

A. Import data from files into staging area
B. Import and transfer data from files into metric store
C. Transfer data from staging area into metric store
D. Recalculate metric store derived values

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 17
The metric administrator has noticed that previous loads have failed. What should be done by the metric
administrator in order to isolate the issue when the load is next run?

A. Clear staging area of rejected data logs
B. Clear metric history and calendar data
C. Update the search engine index
D. Recalculate metric store derived values



Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 18
A company wants to track gross profit in their scorecard application. Gross profit is determined by
subtracting expenses from revenue. What can an administrator create to track gross profit?
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A. Derived index metric
B. Formula-based calculated metric
C. Derived index metric type
D. User-defined column

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 19
Which of the following components determines the size of a score?

A. Tolerance
B. Metric type performance pattern
C. Score per tolerance
D. Metric type rollup rule

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 20
What information is cleared by using 'Clear metric history data only?

A. Comments
B. Actions
C. Calendar time periods
D. User defined column values

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:



QUESTION 21
When executing an extract in Metric Designer using the Write to files option, which metric maintenance
task MUST be run to make the data visible in Metric Studio?

A. Import data from files into staging area
B. Import and transfer data from files into metric store
C. Transfer data from staging area into metric store
D. Recalculate metric store derived values

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
straight answer.

QUESTION 22
How would a user be able to view a list of their metrics according to the goals of their business?

A. Sort and trend
B. Strategies
C. Watch list
D. Metric types

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 23
A user is presented with the Sales and Marketing scorecard. Based on the information provided, what
business calendar level has been selected?

A. Most recent values
B. Monthly level values
C. Quarterly level values
D. Yearly level values

Correct Answer: A
Section: (none)
Explanation



Explanation/Reference:
straight answer.

QUESTION 24
Which of the following sets of metrics would be MOST appropriate for the balanced scorecard model?

A. Number of new hires, Turnover rate, Head count, Average age
B. Revenue, customer satisfaction, product quality, percent of employees trained
C. Sales, revenue per sq ft, product quality, number of returns
D. Global revenue, revenue for services, revenue for product sales, revenue for support

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
fresh and updated.

QUESTION 25
The data that needs to be populated in the metric store requires consolidation and data cleansing from
various data sources. What is the MOST appropriate data loading technique to accomplish this?

A. Manual entry
B. Metric Designer
C. SQL scripts (structured query language)
D. An ETL tool (extraction, transformation, and loading)

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 26
Which of the following is a step in the process of loading data from a Cognos Planning system into a Metric
Studio application?

A. Create a Framework Manager model in Metric Designer.
B. Import Contributor flat files to the metric store.
C. Create a Framework Manager model from published Contributor data.
D. Transfer live Analyst data directly into the metric store.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 27
A scorecard application has been implemented using the balanced model, where four scorecards were
created for each perspective. Which perspectives contain the following metrics? · Defects per unit
· Number of returns
· Number of recalls

A. Financial and Customer
B. Customer and Internal Process
C. Internal Process and Learning and Growth



D. Financial and Learning and Growth

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 28
An administrator attempted to transfer metric values from the staging area into the metric store. However,
not all of the metrics were populated with expected values. In which table can the administrator locate the
rejected rows for review, correction, and reloading?

A. KPI_VALUE_STAGE_REJECTS
B. OBJECT_STAGE_REJECTS
C. METRIC_TYPE_STAGE_REJECTS
D. OBJECT_NOTE_STAGE_REJECTS

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 29
How would the scorecard developer delete the Marketing scorecard and move its children under the
Corporate scorecard?

A. In the user interface, drag the children to the Corporate scorecard and then delete the Marketing
scorecard.

B. In the user interface, mark the Marketing scorecard for deletion, drag the Corporate scorecard and run
re-calculate metrics derived values.

C. In the .cmo file, re-assign the parent to the children scorecard and then mark the Marketing scorecard
for deletion.

D. In the .cmdfile. re-assign the parent to the children scorecard and then mark the Marketing scorecard
for deletion.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 30



A tab-delimited file with a cmm extension contains what type of objects?

A. Metrics
B. Metric types
C. Metric values
D. Import sources

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 31
Which statement is true about staging tables?

A. Staging tables map to Data ManagerTables
B. Staging tables map to tab-delimited files
C. Staging tables map to tables in the data warehouse
D. Staging tables map to tables in the content store

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 32
What must be done to load the data successfully into Metric Studio using structured query language (SQL)
scripts?

A. Perform the task Recalculate metric store derived values after each script execution.
B. Perform the task Import data from files into staging area after each script execution
C. Structure the query language to map data from the relational database to the content store.
D. Structure the query language to map data from the relational database to the staging tables

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 33
Which tile extension must be used on the tab-delimited file that defines relationships between objects?
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A. .cmo
B. .cmr
C. .cml



D. .cmm

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 34
A tab-delimited file with a cmo extension can be used to create what type of object?

A. Scorecards
B. Metric types
C. Calendar levels
D. Permissions

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 35
What directory contains log files needed to troubleshoot problems importing data?

A. installation_location/logs/MetricStorelnstall
B. installation_location/logs/MetricMaintenance
C. installation_location/logs/MetricUpgradePackage
D. installation_location/logs/MetricStoreUpgrade

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 36
There is a requirement to identify whether metric performance this period is better or worse than the
performance for the same period last year. What can be done to determine if performance is better or
worse?

A. Create a user defined column that contains last year's actual value.
B. Specify that trend be calculated by comparing to same period last year.
C. Specify the business calendar level display at Year level.
D. Create a formula-based metric to calculate variance between current period and same period last year.

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 37
Which of the following maintenance tasks does NOT calculate scores and statuses?

A. Import data from files into staging area



B. Import and transfer data from files into metric store
C. Transfer data from staging area into metric store
D. Recalculate metric store derived values

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 38
When publishing a metric extract, which of the following is optional?

A. Import data into staging tables
B. Re-calculate values
C. Transfer from staging to metric store
D. Create the job

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 39
When viewing a derived index metric with an actual value of -0.91, what does the negative sign indicate?

A. The actual value is above target by 0.91 tolerance
B. The actual derived score is below target by 0.91 tolerance
C. The actual derived score is above the tolerance level by 0.91 tolerance
D. The actual value is below the derived index score by 0.91 tolerance

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
approved answer

QUESTION 40
Americas Derived Performance is a derived index metric based on all the metrics in the Americas
scorecard. Using the most recent view, the status for Americas Derived Performance is not showing. What
must a user do to see the status of Americas Derived Performance?

A. Select calendar level as Month and calendar period as December.



B. Select calendar level as Quarter and calendar period as Q4.
C. Select calendar level as Year and calendar period as 2007.
D. Select show the to-date status values for open periods as of Dec 1, 2007.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 41
What can the user create to indicate that they have taken a corrective step to improve the performance of a
metric?

A. Project
B. Strategy
C. Action
D. Report

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
justified.

QUESTION 42
What does the threshold-based calculation method involve?

A. Setting the tolerance as an absolute value
B. Setting target boundaries with user defined values
C. Setting the width of green bands for 'On target is positive' metric types
D. Setting the tolerance value to indicate how much variance from target is acceptable

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 43
Which of the following items is stored in the metric store?

A. Metric studio user preferences
B. Published Metric Designer jobs
C. Metric package data source definition
D. Specifications for metric maintenance tasks

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
outclass answer.

QUESTION 44
A metric's actual value may be significantly different than its target value during a particular period. Which
of the following determines how much variance from the target is acceptable?



A. Calendar rollup value
B. Tolerance value
C. Planned finish value
D. Benchmark value

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 45
What must be created to get an accurate idea of customer satisfaction and how it rates against the
organization's target and the competitors' ratings?

A. Create a benchmark column for the competitor's rating and create a customer satisfaction metric using
performance pattern of 'Above target is positive'.

B. Create a stretch column for your customer satisfaction target and set the competitor's rating using
performance pattern of 'Below target is positive'.

C. Create a customer satisfaction metric using performance pattern of 'Above target is positive' and set the
target value as the competitor's rating.

D. Create a customer satisfaction metric using performance pattern of 'On target is positive', where the
lower threshold is the customer's rating and the upper threshold is your stretch target.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
answer is exact.

QUESTION 46
Which of the following items must be defined at the time of package creation?

A. Root scorecard
B. Business calendar levels
C. Scorecard methodology
D. Default tolerance percent

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 47
Which of the following items is stored in the content store?
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A. Metric actions



B. Scorecard projects
C. Metric diagrams
D. Scorecard CognosBI reports

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Great answer.

QUESTION 48
Which activity requires the creation of a data integration metric task?

A. Load data manually
B. Create a CognosBI report
C. Transfer data from staging area to metric store
D. Export data from a metric package

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
definite.

QUESTION 49
There is a requirement to load metric values for a metric at the monthly level, but not have the quarterly and
yearly values calculated. How is the metric type business calendar rollup level set to accommodate the
loading of these values?

A. Set as sum of individual values
B. Set as last of individual values
C. Set as supplied by client
D. Set as maximum of individual values

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
rightful answer.

QUESTION 50
What must exist prior to creating a metrics package?

A. Scorecard methodology
B. Business calendar
C. Database
D. Metric types

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 51
The exhibit shows the monthly values for a specific metric and the rolled up quarterly values. Which rollup



rule is applied?

A. Sum of individual values
B. Average of individual values
C. Max of individual values
D. Last of individual values

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 52
What needs to be created in order for the financial cube containing the revenue measure to be mapped to a
Metric Studio metric named revenue actual value?

A. Scorecard object extract
B. Metric type object extract
C. Metric extract containing cube metadata
D. Metric extract with a filter on the revenue measure

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:



straight answer.

QUESTION 53
Which of the following can NOT be created through a metric extract?

A. Metrics
B. Qualifiers
C. Actions
D. Scorecards

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 54
To load data directly from an existing Cognos data source, what needs to be installed?

A. IBM Cognos Planning
B. IBM Cognos OLAP Modeler
C. IBM Cognos Metric Designer
D. IBM Cognos Framework Manager

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
appropriate answer.

QUESTION 55
A finance scorecard contains all the financial key performance indicators. Executives want the application to
provide a status and a score for the overall Finance scorecard. How is this implemented?

A. Set the metric type business calendar rollup level as sum of individual values.
B. Create a group using the Majority Rules group status calculation on only the Finance scorecard.
C. Create a derived index metric on the Finance scorecard.
D. Create an impact diagram where the impacted metrics are all the metrics on the Finance scorecard.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
clear answer.

QUESTION 56
The HR department is required to monitor headcount. which is a metric type defined as 'On Target is
Positive'. The target is 1000 and the range for on target is positive is 50%. The tolerance is 10%. What is
the range of values for the upper yellow band?

A. 1001-1050
B. 1051-1150
C. 1101-1150
D. 1101-1199

Correct Answer: B



Section: (none)
Explanation

Explanation/Reference:
answer is superb.

QUESTION 57
What is the importance of assigning an owner?

A. To apply permissions to a metric
B. To allow tracking of accountability on a metric
C. To assign actions to a metric
D. To allow tracking of accountability on an impact diagram

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 58
Given the following information, what is the score?

Metric type performance pattern; Below target is positive Default Tolerance: 200 Score per tolerance: 1
Target: 4000 Actual: 4400

A. Score is 2
B. Score is 1
C. Score is-2
D. Score is-1

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
true.

QUESTION 59
What is created after the New metrics export wizard is run from Cognos Connection?

A. Metrics extracts
B. Tab-delimited files
C. Objects extracts
D. Deployment package

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
outclass answer.

QUESTION 60
An administrator wants to import data from tab-delimited files into an application. When creating an import
source for these files, what must the administrator specify in Metric Studio?

A. Character set encoding
B. Number of rows



C. Tool used to create the file
D. Physical size (in KB) of the file

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 61
What type of import source needs to be defined in Metric Studio when importing data from the Metrics
import directory?

A. Tab-delimited files
B. Cognos Planning data
C. Cube-based Framework ManagerPackages
D. Relational Framework ManagerPackages

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 62
Assuming that strategy elements are displayed on a scorecard, what can happen to metrics that have not
been assigned to any strategy element?

A. They can be added within the first strategy element.
B. They can appear first in the metric list, above all the strategy elements.
C. They can be assigned to a strategy element called 'Other metrics'.
D. They can be assigned to a strategy element called 'Unassigned metrics'

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 63
An administrator wants to add a non-CognosBI report to the Reports tab of a scorecard. In the process,
what must the administrator specify?

A. UNC path
B. Diagram identifier
C. Scorecard name
D. URL

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
applicable.

QUESTION 64
An administrator wants to add a URL to the Reports tab for a specific metric. This URL will reference a Web



report for the year 2003. Which of the following would the administrator type in order for the report to
display correctly?

A. www.company.com/[year][sc_extid].htrnl
B. www.company.com/[year][type_sid].html
C. www.company.com/[metric_extid][year].html
D. www.company.com/[sc_extid][year].htrnl

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Excellent answer.

QUESTION 65
When a user clicks on a metric status, they are brought to the Details tab. What causes this behavior?

A. The metric is a calculated metric and therefore goes to the Details tab.
B. Five status indicators are being used which default to the Details tab from a metric status indicator.
C. The navigation path for metric status indicator is set to the Details tab.
D. The metric type metric status indicator view is set to the Details tab.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
absolute answer.

QUESTION 66
What type of diagram shows inventory metrics in different sales territories?

A. Impact diagram
B. Strategy map diagram
C. Process diagram
D. Geographical diagram

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 67
How can a user view their most important metrics in Cognos Connection?

A. Add a Metric List portlet to Cognos Connection.
B. Add an Extended Applications portlet to Cognos Connection.
C. Add a Navigator portlet to Cognos Connections.
D. Add a Bookmarks Viewer portletto Cognos Connection.

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
100% correct answer.



QUESTION 68
Which of the following can be displayed in an custom diagram?

A. Actions
B. Reports
C. Projects
D. Scorecards

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 69
A user logs in and is immediately presented with the screen below. What setting controlled this being the
initial screen?

A. In My Preferences, the user sett his as their default view
B. The user set this view as their home view
C. The scorecard developer set this as the default view for all users
D. The scorecard developer set the navigation path to this view when logging in

Correct Answer: B



Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 70
On a scorecard, a Report Studio report containing prompts will be included on the Reports tab. How can the
report be run without prompting the user?

A. Create a user-defined column to pass as prompt value to the Report Studio report.
B. Use default parameters that exist in Report Studio.
C. Supply the parameters as prompt values to be used when running the Report Studio report.
D. Prompt the user for the values when they navigate to the Reports tab.

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
great answer.

QUESTION 71
What method is used to run the metric extracts on a weekly basis?

A. Publish to content store
B. Create and schedule job for execute
C. Execute an extract and write to files
D. Publish the extract to the content store with the optional job

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
right.

QUESTION 72
Which activity must be completed before creating metrics extracts from a Framework Manager package?

A. Publish the Framework Manager package to the content store.
B. Extract the Framework Manager package from the content store.
C. Publish the Framework Manager package to the metric store.
D. Publish the Framework Manager package to the same machine as Metric Designer

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:
Explanation:

QUESTION 73
Which of the following can an administrator create while building a metrics extract?

A. Projects
B. Diagrams
C. Scorecards
D. Strategies



Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:
definite answer.

QUESTION 74
What must be done to import tab-delimited files from a previous version of Metric Studio?

A. Create staging tables for the previous version
B. Specify the file format as the previous version
C. Indicate the file version in the appropriate column of the tab-delimited file
D. Modify the staging tables to match the tab-delimited files from the previous version

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
well defined.

QUESTION 75
What does a qualifier do?

A. Distinguishes between metrics to be used in a derived metric calculation
B. Identifies metrics that belong to specific groups.
C. Identifies metrics of the same type across different scorecards.
D. Distinguishes between metrics of the same type on the same scorecard.

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:
answer is correct.
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